Revision exercises: Addition with carrying

1. Work out the following
(a) 9
5 +
(c) 7
6 | 0| 3 +
(e) 4 5 2
1 9 | 6 +
@ 26| 0
3 4 8 +
(i) 2 | 7| 8
6 | 6 | 3 +

(b)

(d)

(f)

(h)

)

MATHS

4
2 8 +
1 4
2 7 +
9 |7
0O |9 +
7 2
8 | 9 +
0| 5




Revision exercises: Addition with carrying MATHS
2. Work out the following
(a) 3|/ 0| 8 (b) 7| 21| 9
2 + 1| 0| 4 +
(c) 1|1 7|5 (d) 8 | 2
3|1 7| 4 + 511 |9 +
(e) 5| 0] 6 (f) 6 | 8 |0
2 | 4| 6 + 1 |19 |3 +
(@) 4 18| 1 (h) 2| 9| 8
4 | 8| 9 + 3| 7| 6 +
(i) 35| 9 () 3| 3| 4




